
 

6.29 a) The maximal sample frequency is determined by
the critical loop.
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b) We have 
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This expression can be rewritten by using the distrib-
utive rule
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This does, however, not change the critical loop, as
shown in the figure. If we now use the associative rule,
the expression can be rewritten
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The cirtical loop has now only two operations.
We have
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)/2 = (2 + 2 )/2 = 2 

Note that the number of operations has
changed and the length of the other computa-
tional paths that are not part of the critical loop
has also changed. 
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